
�� ��������� ������� ����� �� ������� ������ ����� ������������ ������������ �� � ������ ���� ��

������ �

�� ��������� ��� ������ ������������ ����� �� ���������� �������������

�� ��� ����������� ����� ����������� ������

�� ��������� ��� ������� �������� ���������� xn + yn = 1 �� ����� ����
����������� ��������������� ��� n > 2� � ��������� ��������� ����� � ����
�������� �� ����� ������������� ��������

�� ������ x2 + y2 = 3z2 ⊂ P 2 �� ����� ������������ ������

�� ��������� ��� ������ 2Y 2 = X4 − 17Z �������� ������������� � �����

���� ����� ��� Q� ����� ���������� �� ����
�� ���������� ������������ ����� 2x2 +7y2 = 1� ��������� ��� � ��� ���

����� �������� �� ���� ������������ � ������� ��� p����������� �������


